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3XML�V\XNXU��SHQXOLV�SDQMDWNDQ�DWDV�NHKDGLUDW�$OODK�6:7�\DQJ�WHODK�PHOLPSDKNDQ�

UDKPDW�GDQ�NDUXQLD�1\D��VHKLQJJD�SHQXOLV�GDSD�PHQ\HOHVDLNDQ�7XJDV�$NKLU�\DQJ�

EHUMXGXO�³3HQJHPEDQJDQ�6LVWHP�(QWHUSULVH�5HVRXUFH�3ODQQLQJ �(53��3HQMXDODQ�

%HUEDVLV� 2GRR�'HQJDQ�0HQJJXQDNDQ�0HWRGH� $6$3� SDGD� 37�� )DGQRY�$LUWHFK�

,QGRQHVLD´�GHQJDQ�EDLN�

7XJDV� $NKLU� LQL� PHUXSDNDQ� VHEXDK� SHQHOLWLDQ� \DQJ� GLGRNXPHQWDVLNDQ� XQWXN�

PHPHQXKL� VDODK� VDWX� V\DUDW� PHQ\HOHVDLNDQ� SURJUDP� VWXGL� 6�� 6LVWHP� ,QIRUPDVL�

)DNXOWDV�5HND\DVD�,QGXVWUL�8QLYHUVLWDV�7HONRP�

'DODP� SHQ\XVXQDQ� 7XJDV� $NKLU� LQL�� SHQXOLV� PHQJXFDSNDQ� EDQ\DN� WHULPDNDVLK�

\DQJ�WDN�WHUKLQJJD�SDGD�

�� $OODK� 6:7� \DQJ� WHODK� PHPEHULNDQ� UDKPDW� GDQ� NDUXQLD�1\D� VHKLQJJD�

SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�GHQJDQ�ODQFDU�

�� .HGXD�RUDQJ�WXD�WHUFLQWD��$\DKDQGD�$NPDO�GDQ�,EXQGD�+HOPLDU�+DV�\DQJ�

WLDGD�KHQWL�PHPEHULNDQ�GRD�GDQ�VHPDQJDW KLQJJD�VDDW� LQL NHSDGD�SHQXOLV�

XQWXN�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�GHQJDQ�EDLN�

�� %DSDN�5��:DKMRH�:LWMDNVRQR��6�7���0�7�VHODNX�SHPELPELQJ�,�GDODP�7XJDV�

$NKLU�DWDV�ZDNWX�\DQJ�GLOXDQJNDQ�GDODP�PHPEHUL�ELPELQJDQ�

�� %DSDN�8PDU�<XQDQ�.�6�+�� 6�7���0�7� VHODNX� SHPELPELQJ� ,,� \DQJ� WHODK�

VDEDU�GDQ�VHWLD�PHPELPELQJ�SHQXOLV�XQWXN�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

�� %DSDN�<D\DQ�6RI\DQ�VHODNX�PDQDJHU�+5'�GL�37��)DGQRY�$LUWHFK�,QGRQHVLD�

EHVHUWD�VHOXUXK�NDU\DZDQ \DQJ�WHODK�PHPEDQWX�GDODP�SHQ\HOHVDLNDQ�7XJDV�

$NKLU�LQL�

�� <XGL�3UDVHW\D�VHEDJDL�UHNDQ�.HORPSRN�7XJDV�$NKLU�

$WDV� VHOXUXK� NHVDODKDQ� GDQ� NHNXUDQJDQ� SHQXOLV� GDODP�7XJDV�$NKLU� LQL�� SHQXOLV�

PHPRKRQ�PDDI�GDQ�PHQHULPD�VHJDOD�EHQWXN�NULWLN�GDQ�VDUDQ�\DQJ�PHPEDQJXQ�GDQ�

PHPEXDW�7XJDV�$NKLU�LQL�PHQMDGL�OHELK�EDLN�ODJL
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